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< 1,200
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< 20,079
s 97,718
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04 JIZHHZ2XRHEE S 25,608 24,846 762
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202 04 Hl 5,960 5,960 0
01 = LH 4 Hi 5,960 5,960 0
OsXNE+E2FI(SHMHE)
2,960,000& x 14! 2,960
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01 At 22l 12,500 12,500 0
OsgX2a ot T+ H =
7,500& x1,200% 9,000
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s EsS4 ANEAY 144,000 72,000 72,000
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500,000 x424 2,000
soHgel HE XN AY 30,000 30,000 0
301 et A= 30,000 30,000 0
12 J|EtE2 A3 30,000 30,000 0
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01 2IZEt 2 A B (KM ) 50,000 50,000 0
OL=ot2A HILEWMAA
2,500 *50,000m *40/100 50,000
d==DSE MEHUHE 875,000 412,500 462,500
Jl| 630,000
= 31,500
s 213,500
402 RI2FX=201 M 175,000 412,500 A 237,500
J| 70,000
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e 4,200
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s 140,000
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700,000,000 =14 2 700,000
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402 2I2tXt=01 & 80,167 232,960 N 152,793
32,067
14,430
33,670
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02 QA2 AMLEE (01X THE) 80,167 232,960 A 152,793
OAEZ30U HXOE 283 XNEAEY
10,688,920 * 150 A x50/ 100 80,167

32,067
14,430
33,670

M A

SENFSEFHYSNE (LRSI HUANDIAMY) 270,000 270,000 0
225,000
45,000

Mo

402 2I2tXt=01& 270,000 270,000 0
225,000
45,000

Mo

02 U TEALEZ(0IETHE) 270,000 270,000 0
OFTA 2XE Z3E MDA
150,000, 000& *34! x60/ 100 270,000

225,000
45,000

Mo

AMESIRA 23H2I| XA 7,630 54,000 46,370
2,289
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402 2I2tXt=01& 7,630 54,000 N46,370
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Mo
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01 2IZEH 2 A B (KR ) 87,600 0 87,600
ONZEZE Ch=== &N i X
17,520,000% *10ha*50/100 87,600
FES|Y AQEE =oAL 34,847 30,520 4,327
< 10,447
s 24,400
402 QIZ2HXHE01 M 34,847 30,520 4,327
< 10,447
s 24,400
02 QI EALEZ (OIS ) 34,847 30,520 4,327
OFES L (AEHE) ANEZ LAY
24,890,710 *2JH 2 x70/100 34,847
< 10,447
s 24,400
U ESHMLSA(SIOIHE HA) A 1,598 49,501 AA4T7,903
= 1,332
s 266
402 2I2H X201 M 1,598 49,501 AA4T7,903
= 1,332
[ia 266
02 QI 2 A EZ (01X THS) 1,598 49,501 A47,903
ORUASHALSL(SOIHENL) AL
2,663,330& x 14160/ 100 1,598
= 1,332
s 266
SHSHMRSEZIZEXIAANS (HASHAHHH) 45,900 0 45,900
< 13,770
s 32,130
402 RI2FX20| ™ 45,900 0 45,900
= 13,770
s 32,130
02 It 2 AL EZ (OIS ) 45,900 0 45,900
OMAT MACHHT XA (DF)
1,800,000 *85& *30/100 45,900
< 13,770
s 32,130
TESSWY HL2A T ALY 17,424 0 17,424
= 8,712
< 2,614
[ia 6,098
307 21201 A 17,424 0 17,424
= 8,712
< 2,614
s 6,098
02 It S AHE L 17,424 0 17,424




2AN: sgEHY
HY: SRXNM U SIHASE
e NYEEES 4 L ANEXE (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OZcE=ud NZAANAANY
1,900& x305.68YH *303] 17,424
= 8,712
= 2,614
= 6,098
ESAS(HA) MAAESUS AFY 7,983 0 7,983
= 3,193
= 4,790
402 BI2H X 20| M 7,983 0 7,983
2 3,193
= 4,790
02 CIZEXIEANSE X (0| XM THL) 7,983 0 7,983
OEESS(HA) MAANAE SUSAY
15,965,000 x 14! x50/100 7,983
= 3,193
= 4,790
shas BdER2 1,525,418 1,152,678 372,740
= 1,050, 191
= 165,038
= 310,189
XAH=2AE=E2 235,402 225,000 10,402
= 188,322
= 14,124
= 32,956
301 srE A 235,402 225,000 10,402
= 188,322
o 14,124
= 32,956
12 JIEtE A& =2 235,402 225,000 10,402
OxAgRNAxED 600, 000! *392.336ha 235,402
= 188,322
= 14,124
= 32,956
Heok=222 | (K XA )X & 3,759 3,524 235
= 3,759
202 04| 3,759 3,524 235
= 3,759
01 2Ll 3,759 3,524 235
oOFsgmpAL XX
20,000 x»4% 46,98 3,759
= 3,759
sool SRSNHEEE N 315,000 48,552 266,448
< 105,000
= 210,000
301 LBt A= 315,000 48 552 266,448
= 105,000
= 210,000




2N

=
=]
X ZH: =
(=R IR
=
=]

=@ =0t E@E CEE-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
12243 315,000 48,552 266,448
Osgo =& Mal2gs N
500,000& *700ha*90/ 100 315,000
< 105,000
e 210,000
gsdAE23 (=) 843,231 720,000 123,231
= 843,231
301 gt d= 843,231 720,000 123,231
= 843,231
12 JIEBHE4 S 843,231 720,000 123,231
OgZ=dA=3(=38) 650,000&1,297.278ha 843,231
= 843,231
gsHANES(Xy]) 94,247 110,602 A 16,355
< 45,914
e 48,333
101 124 dl 6,047 10,602 AN 4,555
< 1,814
s 4,233
4 D122 E2XREES 6,047 10,602 A 4,555
OLsYmEEa ALEA(NLH)
66,800 *8.229 x11H S H 6,047
< 1,814
[ 4,233
301 L2 A Z 88,200 100,000 A 11,800
< 44,100
i 44,100
12 JIEtE4 3 88,200 100,000 211,800
OgsgA=3(Xedl) 60,000& +1,470ha 88,200
< 44,100
s 44,100
dsgi=Ea HEH XN 14,879 22,000 AT, 121
= 14,879
201 Let24d] 10,879 17,000 A6, 121
= 10,879
01 At 22l 10,879 17,000 26,121
Ogsgxgs w2z (2H)
989,000& 111 S 10,879
= 10,879
202 oddl 4,000 5,000 A 1,000
= 4,000
01 = LH o4 1l 4,000 5,000 21,000
OZsgAES GHI(3Hl) 20,0003 *»4H x50 4,000
= 4,000
S3HI=01= WX 18,900 22,000 A 3,100




SN SR
HE: sARENM U SHASE
. sotAE BEER (e H)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
101 @124 H] 18,900 22,000 A 3,100
04 JI2ZtHIZ2 2 NEE S 18,900 22,000 A 3,100
OZ22HI=01= WY XS 126,000 »6 2 x253] 18,900
SEAMA 23 789,660 336,760 452 900
= 12,000
& 5,400
= 772,260
SAESI|IH XA 149,600 160,000 A 10,400
402 SI2FXHE0| M 149,600 160,000 A 10,400
01 CIZIXIEANS X (MMM ) 149,600 160,000 A 10,400
OA8E=sI|H NS
2,000,000 x187CH *40/100 149,600
NE=sHdEo3 1,560 760 800
202 o4 | 1,560 760 800
01 2L HI 1,560 760 800
O=Ne ALEX(5A)
130,000& x1H ~12& 1,560
SIHSSHEX 22X 30,000 60,000 A 30,000
= 12,000
= 5,400
= 12,600
402 BI2H X 20| M 30,000 60,000 A 30,000
= 12,000
= 5,400
= 12,600
02 QIZEXIEAISEX (0| THL) 30,000 60,000 A 30,000
OsYIIH SstEX 22X&
100, 000& »300CH 30,000
= 12,000
& 5,400
= 12,600
W==z=IF DILACH2I X KT & 448,500 92,000 356,500
402 SI2vXH=20| ™ 448,500 92,000 356,500
01 St EANSE X (M) 448,500 92,000 356,500
OME=sIF DILAC2I R R
23,000,000 *39CH x50/ 100 448,500
H MOl sIJF XIAH X XA 160,000 0 160,000
402 SI2vXHE0| ™ 160,000 0 160,000
01 QI E A EX (M) 160,000 0 160,000
OH MuHsIF XIAHXH K&
25,000,000 *16CH x40/ 100 160,000
s U AISMAD|BIR = 1,092,867 1,025,786 67,081
= 36,000




SN sYFYY
M =ATENA U SIASED
el UE W ABRMAI|BRE CEEEED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Pl 276,190
& 184,039
= 596,638
EANSHIEH JIHESH XS 60,000 120,000 A 60,000
J| 15,000
& 13,500
= 31,500
402 SI2FXHE0| & 60,000 120,000 A 60,000
J| 15,000
& 13,500
= 31,500
02 CIZEXIEAIS X (0| XM THL) 60,000 120,000 A 60,000
O2AME dIH JIAHHH K&
150,000,000 »1X*40/100 60,000
J| 15,000
& 13,500
= 31,500
sStNee =sAXNE 75,467 70,735 4,732
J| 45,280
& 7,547
= 22,640
402 SI2FXHE0| M 75,467 70,735 4,732
J| 45,280
& 7,547
= 22,640
03 QI 2t EF A HI 75,467 70,735 4,732
O NI AALY 430. 01 x702H 250! 75,467
J| 45,280
< 7,547
= 22,640
EAMNES MARAZ XA 169,990 160,000 9,990
& 16,452
o 153,538
301 et A= 169,990 160,000 9,990
& 16,452
o 153,538
12 JEtE2 A= 169,990 160,000 9,990
OZEAMNZ MAZHZ2X AL (Z2HIZ=IF 115,150
) 20& %8,499,500kg 169,990
& 16,452
= 153,538
TANSHMAEZ AFL2IXHE K& 504,000 425,160 78,840
J| 168,000
= 56,000
o 280,000
301 et A= 504,000 0 504,000
J| 168,000
& 56,000




SN S
M sPIAINE & SIHASSH
Ol Us U ARMADIBRE (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 280,000
12 JE24 =3 504,000 0 504,000
OZAtE =& Hl ZHl
60,000 *9,333.33& %90/ 100 504,000
J| 168,000
< 56,000
i 280,000
IMNSHAZ S X3 37,410 37,410 0
J| 37,410
402 RI2EA=20| A 37,410 37,410 0
J| 37,410
03 212t &AL S HI 37,410 37,410 0
OENBNE Y 2EXE 28
124,700,000% *1Z %30/ 100 37,410
J| 37,410
DEESHNES AR ALY 48,800 43,520 5,280
< 14,640
s 34,160
402 2I2H X201 M 48,800 43,520 5,280
< 14,640
s 34,160
02 QI EALEZ (OIS ) 48,800 43,520 5,280
OFdts 2y 320,000& *1305 x50/ 100 20,800
< 6,240
s 14,560
O= &I X TH A& 8,000, 000& *7H 250/ 100 28,000
= 8,400
s 19,600
IMNE SE22 N 21,000 27,761 AB,761
J| 10,500
s 10,500
101 @124l 18,335 21,821 A 3,486
J| 9,166
s 9,169
04 JIZHHZ2XNHESE S+ 18,335 21,821 A 3,486
OZMESSE2e| A 18,335
—Jl=s 66,8003 x1H 183 12,225
J| 6,112
s 6,113
— WSl 2,0003 x 18 %183 366
J| 183
[ 183
— = Al 4,0003 x1H+183 732
J| 366
s 366
-5 66,8003 1 30 2,004
J| 1,002




2N =Y
XMZIH: =A
L= B =
=
=]}

=L B

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

HJ

1,002
— o= 72,8003 x1H 6 437
J| 218
219
— 42 E 15,764,000& *12.5% 1,971
985
986
— 04l 20,0003 x1H +302 600
J| 300
300

U M

HJ

201 LEt2A | 2,665 5,940 N3,275

1,334
1,331

H X

< ]l 2,665 5,940 A 3,275
OXZMNEZSE el A 1=l 200
100
100
OXZMESSE el Z Ak 2,465
1,234
1,231

H X

H <

ArZ XFOHEH & & Pl X & 40,000 40,000 0
12,000
28,000

EUNLY

402 212t A= 01 & 40,000 40,000 0

12,000
28,000

M H

02 (IR E2ALEZ(OIETHR) 40,000 0 40,000
OAMZ RIHEHE ZHIXI&
40,000,000 2K A *50/100 40,000

12,000
28,000

M H

SENASFLUISNR (FESLHRRMLAI|IBIRE) 43,200 21,600 21,600
36,000
7,200

Mo

402 212t A= 01 & 43,200 21,600 21,600

36,000
7,200

Mo

R ENEEEICERED 43,200 21,600 21,600
OSZ LRBMIIBIDE
18,000, 000! 47} £ %60/100 43,200

36,000
7,200

UK

Hsdl NE ALY 3,000 6,600 A 3,600

900
2,100

M

307 21201 & 3,000 6,600 23,600
900

2l




2N
X ZH -
L= B

el

CHE - EI(BA) - NRAY - BYS

Off &t 24

=

i
2m

2,100

N
o
Ny
0
0z
>
e
HI
P

O
i
o
2
L:_\
=
0
>
S

1,200,000 54 A «50/100

EUNLY

3,000

3,000
900
2,100

6,600

A 3,600

b

L]

FAE SUHa X3 ALY

UL

90,000

63,000
27,000

90,000

402 2IZ2tXt=01&

UL

90,000

63,000
27,000

90,000

30,000, 000% 6 2~ *50/100

M H

90,000

90,000

63,000
27,000

90,000

AR

M

1,663,182
12,000
134,036
210,396
1,306,750

2,116,031

N 452,849

EUNL

10,070
3,020
7,050

6,070

4,000

EUNL

10,070
3,020
7,050

6,070

4,000

20,000% 1,007 *50/100

Mo

10,070

10,070

3,020
7,050

6,070

4,000

EUNLY

257,500

15,464
242,036

259,000

A 1,500

M H

257,500

15,464
242,036

259,000

A 1,500

SX(0IETHA)

[e2]
SE2S JINM X (ZHIFIt 205,952
)

E=IPAR-Z

3,000,000 54 A *50/100

10,000,000 507 A x50/ 100

Mo

M

257,500

250,000

13,214
236,786

7,500

2,250
5,250

259,000

A 1,500




2N
X ZH -
L= B
el

O Of

MR 1R
0¥ 410X

oA 2

=2

=

E x

=y
¥
e
Jn
0l
o

I
=z
oz O

(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ZHAE S AS 80,000 180,000 A 100,000
402 2I2H X201 M 80,000 180,000 100,000
01 2I2E 2 A B (RERTH ) 80,000 180,000 A 100,000
OLHAN M2 AL &
40,000, 000& *4JH 2~ *50/100 80,000
=T EE sgel2E3a XA 312,000 150,000 162,000
< 64,800
s 247,200
402 RI2HXt20l ™ 312,000 150,000 162,000
< 64,800
s 247,200
02 22t 2 AL EZ (01X TH ) 312,000 150,000 162,000
OJNETHEE So RSN (2HIXIt 15
0,000& &) 4,000, 000& »156 1 2= x50/ 100 312,000
< 64,800
[ia 247,200
StRYar SESHEIMNEAY 19,000 17,580 1,420
< 5,900
[ia 13,100
402 RI2EXt20l 19,000 17,580 1,420
< 5,900
[ia 13,100
02 2IZt 2 AL EZ (OIS ) 19,000 17,580 1,420
OBLYLRTH TN AL
10,000& *3, 166 .65 *60/ 100 19,000
< 5,900
s 13,100
=g UHl IsAsE3Me 54,000 48,000 6,000
< 16,200
[ia 37,800
402 RIZEXtE0| A 54,000 48,000 6,000
< 16,200
s 37,800
02 2IZt 2 AL EZ (OIS ) 54,000 48,000 6,000
O=Zg & HAUH MSEHE HEAMY
10,000,000 *9JH 2 x60/100 54,000
< 16,200
[ia 37,800
St SOHA & 48,320 22,180 26,140
J| 15,584
< 4,832
s 27,904
307 21201 A 48,320 0 48,320
J| 15,584
< 4,832
e 27,904




SN S
M sPIAINE & SIHASSH
ool MBYFAI|BEY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 48,320 0 48,320
OSMSOELSFNAANG(BEX) 48,320
— 2 Br=0t 320,000& x1274H 40,640
J| 12,192
< 4,064
fia 24,384
— Atsl S &0t 320,000& 17 5,440
J| 2,720
= 544
s 2,176
— A= &M 320,000 »7H 2,240
J| 672
= 224
s 1,344
HEdEL=SSH XA 11,000 30,000 A 19,000
< 2,640
s 8,360
402 QI2H X201 M 11,000 30,000 A 19,000
< 2,640
s 8,360
02 QIZEHEASEZ (01X THS) 11,000 30,000 A 19,000
OXSFEF LS EH NI (FHIFI 2,2008 &
) 500,000 »220H 2~ 11,000
< 2,640
s 8,360
HE SEHAMEIXZE 10,000 10,000 0
301 et a3z 10,000 0 10,000
12 JIEtE4 = 10,000 0 10,000
OLEEZZZ Al X& 100,000& »100AH 10,000
SAHoIst0t S U 3 8,000 6,000 2,000
301 et d s 3,000 6,000 A 3,000
12IJEEd=S 3,000 0 3,000
OstsZdUa 2= 300,000& 105 3,000
307 21201 A 5,000 0 5,000
02 HAFAANGFEX 5,000 0 5,000
OF=E =40 S0ISHE &It SHE 7
50,000& 100 5,000
SMEE gRFA 6,240 5,432 808
202 o4dl 6,240 5,432 808
01 = LH o4 1l 6,240 5,432 808
OBMTE YRE(5Y)
130,000& x4H x12& 6,240
SMsEs ZENM N 30,000 30,000 0




SN S
HY: SRXNM U SIHASE
ool HERSA|BES EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
402 BI2FX=01 M 30,000 30,000 0
01 2I2E 2 A B (KR ) 30,000 30,000 0
OFds ZEM XA
1,000& *75,0000H x40/ 100 30,000
Lot N Fo= HOHHA X2 5,000 5,000 0
201 Let249] 5,000 5,000 0
03 &AL S HI 5,000 5,000 0
Ofetn@d SH=2 g8 5,000,000& 13 5,000
SEZ NS EHI X AE 12,000 24,000 A 12,000
< 3,600
= 8,400
402 BIZEXHEZ 01 A 12,000 24,000 A 12,000
< 3,600
s 8,400
02 QI EAILSEZ (01X THS) 12,000 24,000 A 12,000
OSE+ZNEFEHIXIAAS
10,000, 0002 *291 60/ 100 12,000
= 3,600
e 8,400
2 AE HEM XEAS 6,750 6,900 A 150
= 2,025
s 4,725
402 RI2HX=01 M 6,750 6,900 A 150
< 2,025
s 4,725
02 QIZEHEASEZ (01X TS ) 6,750 6,900 A 150
OFKAE NMAM XA
30,000& *450& *50/ 100 6,750
< 2,025
i 4,725
DssEdAa=T ZEAY 50,400 32,824 17,576
< 15,120
s 35,280
402 2I2H X201 A 50,400 32,824 17,576
< 15,120
s 35,280
03 212t & AHH HI 50,400 32,824 17,576
Olsggars28M0d 72,0003 *7005 50,400
< 15,120
[ia 35,280
TSGR (2O MAEHS XS 30,000 30,000 0
301 et a = 30,000 30,000 0
12 JIEE4 3 30,000 30,000 0




SN S
M sPIAINE & SIHASSH
Sl MBS MUY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o dio = HImEET
0 &
OXAEHX (20 MauEAZ XA
15,000& »2,0005 30,000
SMAEE S 58,452 246,340 A 187,888
J| 58,452
402 RI2EX 20| N 58,452 246,340 A 187,888
J| 58,452
02 QI 2 A EZ (01X TH ) 58,452 246,340 A 187,888
OFSMAESUHAY
194,840,000% *1JH 2 30/100 58,452
J| 58,452
SHER BHE SHAY 153,000 84,000 69,000
207 51 OH £l 15,000 0 15,000
01 g8 15,000 0 15,000
Ol BHE &H g
15,000, 000& =12/ 15,000
301 et A=z 50,000 40,000 10,000
12JIE243 50,000 40,000 10,000
Osdete Eot&aedzs NF 200,000 2505 50,000
307 glz2+ol & 28,000 14,000 14,000
08 OIXtEE 3 28,000 14,000 14,000
OstA OIXEA 3,500,000 2005 *4/100 28,000
402 RI2EXt20l ™ 60,000 30,000 30,000
03 212t EFALE HI 60,000 30,000 30,000
OsHE=2 HItHM(8a=2Y) N
20,000& *3,000kg 60,000
FREZE MEAS 50,000 50,000 0
< 15,000
s 35,000
402 RIZEX20l A 50,000 50,000 0
< 15,000
s 35,000
02 LA TEALEZ(0IETHR) 50,000 50,000 0
OREZ2E MEAS
50,000, 000% 29 2~ *50/100 50,000
< 15,000
s 35,000
LAHEHSHX R 12,000 36,000 A24,000
< 3,600
e 8,400
307 glz2+ol & 12,000 16,800 A 4,800
< 3,600
s 8,400
02 It M AHEE 12,000 16,800 A 4,800




SN sYEUY
M sPIAINE & SIHASSH
S AEBABMI|MEY (29l 8)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Os0taHE X &A 1,500,000 *169H 4 x50/ 100 12,000
< 3,600
[ia 8,400
SR AA IHE AL 37,500 60,000 A 22,500
402 RIZ2EX20l ™ 37,500 60,000 A 22,500
01 212t X2 Ar 2 2= (REXIXH &) 37,500 60,000 A 22,500
OetRAIE SUHSHAY
5,000, 000& *15JH 2 x50/ 100 37,500
SAAFAIENE ALY 21,000 0 21,000
402 RI2EX=20l A 21,000 0 21,000
01 2I2E 2 A B (KM ) 21,000 0 21,000
OZAASAEIMNS AL
6,000,000 74 2 +50/100 21,000
2EASAEXA 15,000 14,400 600
402 QI2H X201 M 15,000 14,400 600
01 2I2E 2 A B (KM ) 15,000 14,400 600
OZFASAEXA 6,000,000 *5I1 A *50/100 15,000
SIS (ESY)X2 ALY 6,000 6,000 0
402 2I2H X201 M 6,000 6,000 0
01 QIZ2E X2 AFY 2 2 (XHAIKH &) 6,000 6,000 0
Ost=( )X ALY
600,000& 20z x50/ 100 6,000
SANSN CHEAIAE X2 A 19,200 44,800 A 25,600
s 12,000
s 7,200
402 RI2HX=20| M 19,200 44,800 A 25,600
s 12,000
s 7,200
02 QI EAILS EZ (OIS ) 19,200 44,800 A 25,600
OSAMSTH AHEAIAE X 2AS
4,000,000 *6IH 2 +80/100 19,200
s 12,000
e 7,200
StR=JF NAX K& 36,000 36,000 0
402 2I2H X201 M 36,000 36,000 0
01 2IZF 2 A B (KM ) 36,000 36,000 0
Ost=It XIAX X
30,000,000%& *3CH *40/100 36,000
Lot A sHaER 24 5,000 0 5,000
307 21201 A 5,000 0 5,000
02 IS AHEL 5,000 0 5,000




PN LAY
HY: SRXNM U SIHASE
ool MBYFAI|BEY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ot DUZ, 222 NIFSUHAE
50,000 =100 5,000
SaER TMRALE Z& A8 X & 42,000 0 42,000
402 QI2H X201 M 42,000 0 42,000
01 2I2F 2 A B (RERITH &) 42,000 0 42,000
Os4s2 At Z& AdEX
60,000,000% *1JH 2 x70/100 42,000
HSAF Mel X&AY 49,500 0 49,500
301 LA Z 49,500 0 49,500
12JE243 49,500 0 49,500
OHEA Mel XNJAY 30,000& =1,650m’ 49,500
Satetgsl 2 dAlg &34 3,600 0 3,600
301 gtE L= 3,600 0 3,600
09 SAAHIEA S 3,600 0 3,600
Osasasl 2 MAS &4
60,0003 x20H +33| 3,600
ZEAEY A 25HH KN E A 16,650 0 16,650
< 4,995
s 11,655
402 RI2FXt20l ™ 16,650 0 16,650
< 4,995
[ia 11,655
02 It 2 AL EZ (01X TH ) 16,650 0 16,650
OZGAEY A S23HH X3 A
16,003& *1,734kg*60/100 16,650
< 4,995
s 11,655
SAMAE SHZIEXNEI] K& 8,000 0 8,000
< 3,200
s 4,800
402 RI2HXt20l ™ 8,000 0 8,000
< 3,200
[ia 4,800
02 It 2 AL EZ (O TH ) 8,000 0 8,000
OSAMN SH3ZEXNEI] XA 42,1053 x190& 8,000
< 3,200
e 4,800
ICT =28 SMAE 60,000 0 60,000
J| 60,000
402 RI2FX=201 M 60,000 0 60,000
J| 60,000
02 QI EAILEZ (01X S) 60,000 0 60,000




2N
X ZH -
L= B

el

O Of

o o e

0 U 0z
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Noal
Mo
e

a4

DLES

o 3
Jn
O
2

I
0x O
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[P

J

ir
x

CHE - EI(BA) - NRAY - BYS 0l &k o4

=

M
2Hm
==
£l
Ol
0y

OICTE=SEEAMAE
100,000, 000 *2JH 2 *30/ 100 60,000
Il 60,000

e
z
re

stotst=l X3 120,000 0 120,000

50,000
70,000

EUNL

307 21201 & 120,000 0 120,000

50,000
70,000

EURE

04 QIZFHALAIH 2 = 120,000 0 120,000
O=4&tQl eotSHal JHzl 120,000,000 *13! 120,000

50,000
70,000

Mo

SoE Yo dae 2,022,862 1,924,231 98,631
638,693
138,706
255,979
989,484

XN

THSE LA HEEE 2 N (HXNLZ2HEER 12,000 12,000 0

6,000
1,800
4,200

Mo A

402 2I2tX201 & 12,000 12,000 0
6,000
1,800
4,200

HH A

02 P2 XE2ALEZ(0IETHR) 12,000 12,000 0
ANadEg XX

10,000, 000& *2JH 2 60/ 100 12,000
6,000
1,800
4,200
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03 2IHALZZHE = 2,684 0 2,684
OZ22RA (LLANREZXE) ¢ 2,684
— A2t =S 14,2703 x1H »15A| 2+ = 12& 2,569
—52422xg 114,180 1P x 1 115
2l (sgd =) 51,907 53,950 N 2,043
Jl2ddl(sgd ) 51,907 53,950 N2,043
201 LEt2 Y| 41,707 40, 195 1,512
01 At 22l Yl 36,492 34,500 1,992
O8I dxa 40,000& = 1CHx12& 480
OMBIIJISgHI(EH) 220,000& x5 x12& 13,200
OSH|(BNH) 8,000& x21H 7 x12& 14,112
QRS2 (58Y) 200,000& x12& 2,400
OJIEt2YH|(&5Y) 6,300,000 * 14 6,300
02 3524l 5,215 5,695 N 480
OxeEd=s0 160,000& = 1CH x12& 1,920
O Xt &kl 720,000& =104 720
OXgEE = 1,000,000& = 1CH 1,000
O Xts XA 100,000& = 1CH 100
OdetEgss 330& x1,5000H 495
osJ|ugss 1,960& *5000H 980
202 04| 5,400 9,105 N 3,705
01 2L Y| 5,400 9,105 N 3,705
OsgdMY R (ZH)
300,000& x1H x12& 3,600
OHZTAIE(ENH) 1,800,000& 1,800
203 &R =AY 4,800 4,200 600
04 BH2Y LR ET 4,800 4,200 600
ORANSELERF=AY| 400,000& x12& 4,800




